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The reason is for it is the n°1; however if it was the 1°?» he is 912

OVERVIEW

The X723 cites the view of "0 "1 (who argues on the 7127), to resolve the query
regarding 1i1"7111. Our MoOIN first explains how we can derive a ruling from *0v " if
the 71127 disagree with him, and then continues to explain the ramification of this
proof.

mMdoIN responds to an anticipated difficulty:'
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And even the 3129 (who maintain that the fp°1 is 21 if the 7°pn made all four
walls) do not argue (in principle with 01 "1 that i1"7117 is 709), but rather in this
case they maintain that the Ap°1 is 2°°11, since the 7°p» says to the 71, ‘you caused

me a NN XDOP’ (so the 7°pn is a 7om), but otherwise they agree with *01° " that 1"?m37 is
MVY).

nooIN asks:
- 15133 9% 1Y 1959 9109 90N XY AN N3N AT IN) TNINN ON)

And if you will say; and if r"">111 is =1, the qp°1 should be Mo even if the aps:

arose and made the fourth wall; why does *01> "1 distinguish whether it was 5°pn Ty or A1 TaY;
in both cases it is 1"7137.

N1B0IN answers:
- ANSINA Y RNOIT INPIN O9XT 473 1Y SINY 9129 ¥

And one can say; the case of P T»y is different, since the np°1 revealed his
intention that he is pleased to spend money for a fence -

10303 *NYN *nPIN 95 K91 19530 98N 919 30T XYY
So it is not similar to the case where one lives in the 2277 of his friend, where he

" See ‘Overview’. See ‘Thinking it over’ # 1.
2 When the 7°p» made all four walls (which afforded the 7°1 proper protection, nevertheless) the 771 is exempt from
paying, since it is n"?mir; the same should apply where the 7°p» made only three walls (which is insufficient
protection). Why does the making of the fourth wall by the p°1 exclude him from n"nar?!
? See “Thinking it over’ # 3.
* The query of n">1ar is only in a case where the 71371 does not wish to pay (anything) for the benefit he receives (as
in the case of YT K7W 171927 7%N2 177); can the ¥ %Y1 obligate the 17 to pay since the 17 was 71171, or not since the
7% %v1 is a "on R7. However in a case where the 17171 is willing to pay (like here where the 7p°1 paid for the fourth
wall), he is then obligated to pay for the entire 78177 of four walls. See ‘Thinking it over’ # 2.
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did not reveal any intention of willingness to pay, but rather he only wants to live
there for free.

SUMMARY
The query regarding n">mi7 is only where there is no indication that the 7171 is
willing to pay; otherwise the 7171 must pay the full amount of the benefit.

THINKING IT OVER

1. Moo (in his explanation how can we bring proof from 01 "7 if the 1127 argue)
states that the (only) reason the 7127 argue is because of X7°n> X9¥pn ° Nna nx.>
However, perhaps the 1127 argue because they maintain 1"2M7 is 2»n and argue
with *01° 1. How does maoin resolve the difficulty?!°

2. Mmoo explains that the case of AP 11 7%pn is different than 17721 7¥M2 777, since
the 91 was 7X€¥I2 7% X217 7°nw7 *23.” However this 70y °93 was only regarding a
fourth wall (but he was never ny7 773 regarding the previous walls), why do we
obligate him to pay (his share) for all the walls?!®

3. Mmoo writes that by 17°2n 7¥72 177 he was not °PnyT °%3 to pay, but rather he
wants to live there nim2.” However the X3 said previously that we are discussing a
23°n% 7°2vT X123, meaning that he is willing to pay rent, so how can m»on write
that 0172 ROX 7°nY7 223 K9?!

3 See footnote # 1.
% See mwn noma.
7 See footnote # 4.
¥ See TmoNT won MR # 71 7K1 and Rp MK 011 B
? See footnote # 3.
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